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GEOMETRY
(TYPES OF TRIANGLE)

Types of Triangles

Triangles are classified on the basis of angles

and sides

f=kHkqtksa dks muds dks.kksa vkSj Hkqtkvksa ds vk/kj ij
oxhZÑr fd;k x;k gSA

Types of Triangles/f=kHkqtksa ds izdkj



On the basis of angle On the basis of Sides

dks.kksa ds vk/kj ij Hkqtkvksa ds vkèkkj ij

 

(i) Right angled (i) Scalene

ledks.k f=kHkqt fo"keckgq f=kHkqt

(ii) Acute angled (ii) Isosceles

U;wu dks.k f=kHkqt lef}ckgq f=kHkqt
(iii)Obtuse angled (iii) Equilateral

vf/ddks.k f=kHkqt leckgq f=kHkqt

Right Angled Triangle/ledks.k f=kHkqt

If one of the angles of a triangle is right

angle, then the triangle is called right-angled

triangle. In the figure, B = 90º, then ABC is

right-angled triangle.

;fn fdlh f=kHkqt dk ,d dks.k ledks.k gks] rks f=kHkqt
ledks.k f=kHkqt dgykrk gSA nh xbZ vkÑfr esa] B = 90º gS]
blfy, ABC ledks.k gSA

A

B C

hypotenuse

In right angled triangle, side opposite to

right angle is known as hypotenuse.

fdlh ledks.k f=kHkqt esa ledks.k ds foijhr Hkqtk d.kZ
dgykrh gSA

Properties of a Right-angled Triangle/

ledks.k f=kHkqt dh fo'ks"krk,¡

(i) (a) Exactly one of the angle is right angle,
i.e. B = 90º

,d dks.k ledks.k gksrk gS vFkkZr~ B = 90º

(b) Exactly two angles will be acute.

nks dks.k U;wudks.k gksaxsA

0º < A < 90º, C < 90º

(c) One angle is equal to the sum of other
two angle, i.e.

,d dks.k vU; nks dks.kksa ds ;ksxiQy ds cjkcj gksrk
gSA

B = A + C = 90º

(ii) (a) Pythagoras Theorem : In a right triangle,
the square of the hypotenuse is equal to
the sum of the square of the other two
sides.

ik;Fkkxksjl izes; % fdlh ledks.k f=kHkqt esa d.kZ dk
oxZ 'ks"k nks Hkqtkvksa ds oxks± ds ;ksxiQy ds cjkcj gksrk
gSA

If a, b and c be three sides of a right-angled
triangle, then according to the Pythagoras
Theorem,

;fn a, b vkSj c fdlh ledks.k f=kHkqt dh rhu Hkqtk,¡
gksa] rks ik;Fkkxksjl izes; ds vuqlkj

A

B C

hypote
nuse

 = c

p
e
rp

e
n

d
ic

u
la

r 
=
 b

base = a

90º

a2 + b2 = c2

Example : 32 + 42 = 52

(b) Pythagorean Triplets : A set of three
integers a, b, c which satisfy Pythagoras
Theorem (a2 + b2 = c2) or are the sides of
aright-angled triangle is called
Pythagorean triplets.
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ik;Fkkxksfj;u fVªiysV % rhu iw.kk±dksa a, b vkSj c dk
lewg tks ik;Fkkxksjl izes; (a2 + b2 = c2) dks larq"V
djs ;k fdlh ledks.k f=kHkqt dh Hkqtk gks] ik;Fkkxksfj;u
fVªiysV dgykrk gSA

The smallest Pythagorean triplet is (3, 4,
5).

lcls NksVh ik;Fkkxksfj;u fVªiysV (3] 4] 5) gSA

If  (a, b, c) be a Pythagorean triplets, then

(ak, bk, ck) or 
a b c

k k k
, ,

 
    will also be the

Pythagorean triplet.

;fn (a, b, c) ik;Fkkxksfj;u fVªiysV gks] rks (ak, bk,

ck) ;k 
a b c

k k k
, ,

 
    Hkh ik;Fkkxksfj;u fVªiysV gkasxsA

Following Pythagorean triplets are
frequently used in the examinations.

fuEu ik;Fkkxksfj;u fVªiysV ijh{kkvksa esa cgqrk;r iwNs tkrs
gSaA

 (3, 4, 5), (6, 8, 10), (9, 12, 15), (12, 16,
20), (15, 20, 25)

 (5, 12, 13), (10, 24, 26)

 (7, 24, 25), (14, 48, 50), (3.5, 12, 12.5),
(21, 72, 75)

 (8, 15, 17)

 (9, 40, 41)

 (11, 60, 61)

  1,1, 2

  1, 3,2

 (2n, n2 – 1, n2 + 1)

 (2ab, a2 – b2, a2 + b2)

Whenever a right-angled triangle will be
given, two of its side will be given and you are
required to find the third side by using
Pythagoras Theorem. But now we will find the
third side directly from the above Pythagorean
Triplets.

tc Hkh dksbZ ledks.k f=kHkqt fn;k x;k gksrk gS rks bldh
nks Hkqtk,¡ Hkh nh xbZ gksrh gSa vkSj rhljh Hkqtk ik;Fkkxksjl izes;
dk iz;ksx djds Kkr djuh gksrh gSA ijarq vc ge rhljh Hkqtk
ik;Fkkxksfj;u fVªiysV ds ekè;e ls Kkr dj ldrs gSaA

In the most of the questions of geometry,
mensuration and trigonometry, we will be
required to find the third side of a right-angled
triangle.

T;kfefr] {ks=kfefr vkSj f=kdks.kfefr ds vf/dka'k iz'uksa esa
gesa ledks.k f=kHkqt dh rhljh Hkqtk Kkr djuh gksrh gSA

Ex. In a ABC, AB = 8 cm, AC = 10 cm and B
= 90º, then the area of ABC is :

ABC esa] AB = 8 lseh] AC = 10 lseh vkSj B =

90º gS] rks ABC dk {ks=kiQy gS %
(a) 49 sq. m (b) 36 sq. m

(c) 125 sq. m (d) 24 sq. m

(iii) In a right-angled triangle ABC, if a
perpendicular (CD) is drawn from the vertex
which is right angle (C) to the hypotenuse
(AB), then

fdlh ledks.k f=kHkqt ABC esa] ;fn 'kh"kZ (C) tks fd
ledks.k gS] ls d.kZ (AB) ij yEc (CD) Mkyk tkrk
gS] rks

A

B

C

D
a

b

c

x

y
p

(i) (a) a2 = x × c

(b) b2 = y × c

(ii) p2 = x × y

(iii) a × b = p × c

(iv)
p a b2 2 2

1 1 1
=

In other words,/nwljs 'kCnksa esa]
(i) (a) BC2 = BD × AB

(b) AC2 = AD × AB

(ii) CD2 = BD × AD

(iii) BC × AC = CD × AB

(iv) 2 2 2

1 1 1

CD BC AC
=

To prove the above formula, we take the 3
similar triangles as shown in the figure.

mi;qZDr lw=kksa dks fl¼ djus ds fy, ge rhu le:i
f=kHkqt ysrs gSa] tSlk fd fp=k esa fn[kk;k x;k gSA

B

C A

B C

D DC A

Now, use the concept of ratio of the sides of
the similar triangles are equal.
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vc vo/kj.kk] ¶le:i f=kHkqtksa dh Hkqtkvksa dk vuqikr
cjkcj gksrk gSA¸ dk iz;ksx dhft,A
Ex.1. In ABC, if AD  BC, then AB2 + CD2 is

equal to :

ABC esa ;fn AD  BC gS] rks AB2 + CD2 cjkcj
gS %

Ex.2. In ABC, BAC = 90º and AD  BC. If
BD = 3 cm and CD = 4 cm, the length of
AD is:

f=kHkqt ABC esa] BAC = 90º vkSj AD  BC gSA
;fn BD = 3 lseh] CD = 4 lseh gS] rks AD dh
yackbZ gS %

(a) 5 cm (b) 2 3  cm

(c) 3.5 cm (d) 6  cm

Ex.3. In a ABC, AD is perpendicular to BC from
A, if BAC = 90º, then AB2 : AC2 is equal
to :

f=kHkqt ABC esa AD, A ls BC ij Mkyk x;k yEc gSA
;fn BAC = 90º gS] rks AB2 : AC2 dk eku D;k
gksxk\

SSC CHSL 10 July 2019 (Morning)

(a) BD2 : CD2 (b) CD : BD

(c) CD2 : BD2 (d) BD : CD

Ex.4. ABC is a triangle with A = 90º. From A,
a perpendicular AD is drawn to BC. Which
one of the following is correct?

ABC ,d f=kHkqt gS ftlesa A = 90º gSA A ls BC

ij yEc AD Mkyk x;k gSA fuEu esa ls dkSu&lk lR;
gS\
(a) only ABC DAC

(b) only DAC DBA

(c) only ABC DAB

(d) only ABC DBA DAC

Ex.5. In a ABC, A = 90º, if BM and CN are

two medians, 
2 2

2

BM + CN

BC
 is equal to :

ABC esa A = 90º ;fn BM vkSj CN nks ekfè;dk

gS rks 
2 2

2

BM + CN

BC
 cjkcj gS %

SSC CHSL 21/10/2020 (Evening)

(a)
3

5
(b)

4

5

(c)
5

4
(d)

3

4

Acute Angles Triangle/U;wudks.k f=kHkqt

If each of the angles of a triangle is accute,
then the triangle is called an acute-angled
triangle.

;fn fdlh f=kHkqt dk izR;sd dks.k U;wudks.k gks] rks f=kHkqt
U;wudks.k f=kHkqt dgykrk gSA

A

B C

If A < 90º, B < 90º and C < 90º, then
ABC is a acute-angled triangle.

;fn A < 90º, B < 90º vkSj C < 90º gks] rks
ABC U;wudks.k gksrk gSA

Properties of an acute-angled triangle/

U;wudks.k f=kHkqt dh fo'ks"krk,¡

(i) Each of the angles of the triangle is acute.

f=kHkqt dk izR;sd dks.k U;wudks.k gksrk gSA
0º < A, B, C < 90º

(ii) The sum of the any two angles of the triangle
is always greater than the third angle.

f=kHkqt ds nks dks.kksa dk ;ksx ges'kk rhljs dks.k ls vfèkd
gksrk gSA
(a) A + B > C

(b) B + C > A

(c) C + A > B

(iii) The sum of the squares of any two sides of
the triangle is greater than the square of
the third side.

f=kHkqt ds nks Hkqtkvksa ds oxks± dk ;ksxiQy rhljh Hkqtk
ds oxZ ls vf/d gksrk gSA
(a) AB2 + BC2 > AC2

(b) BC2 + AC2 > AB2

(c) AC2 + AB2 > BC2

(iv) In an acute angle DABC, AD is the
perpendicular dropped on the opposite side
of ÐA, then

U;wudks.k ABC esa] AD, A dh foijhr Hkqtk ij Mkyk
x;k yEc gS] rks

A

B C
D

AC2 = AB2 + BC2 – 2 × BD × AC

{Here, B < 90º }
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Ex.1. Which one of the following cannot be the
ratio of angles in acute-angled triangle?

fuEu esa ls dkSu&lk U;wudks.k f=kHkqt ds dks.kksa dk
vuqikr ugha gks ldrk gS\
(a) 2 : 5 : 8 (b) 4 : 1 : 4

(c) 2 : 3 : 4 (d) 1 : 1 : 1

Ex.2. Which of the following can be the 3 sides
of accute angled triangle?

fuEu esa ls dkSu&lh fdlh U;wudks.k f=kHkqt dh rhu
Hkqtk,¡ gks ldrh gS\
(a) 2 cm, 4 cm, 3 cm

(b) 1 cm, 2 cm, 3 cm

(c) 4 cm, 8 cm, 7 cm

(d) 9 cm, 12 cm, 15 cm

Ex.3. The length of sides of an accute angle
triangle are 5 cm, x cm and 12 cm where
5 < x < 12. How many integral solution of
x are possible?

fdlh U;wudks.k f=kHkqt dh Hkqtkvksa dh yackbZ  5 lseh]
x lseh vkSj 12 lseh gS tgk¡ 5 < x < 12 gSA x ds
fdrus iw.kk±d gy laHko gSa\
(a) 0 (b) 1

(c) 8 (d) 6

Obtuse Angles Triangle/vf/ddks.k f=kHkqt

If one of the angle of a triangle is obtuse,
then the triangle is called an obtuse-angled
triangle.

;fn fdlh f=kHkqt dk ,d dks.k vf/ddks.k gks] rks f=kHkqt
vfèkddks.k f=kHkqt dgykrk gSA

B > 90º, A < 90º and C < 90º, then

A

B C

Triangle ABC is obtuse angled triangle.

f=kHkqt ABC ,d vf/ddks.k f=kHkqt gSA

Properties of an obtuse-angled triangle/

vf/ddks.k f=kHkqt dh fo'ks"krk,¡

In a ABC, B is obtuse, then

f=kHkqt ABC esa B vf/d gks] rks

(i) Exctly one of the angle of the triangle is
obtuse and other two angles are acute.

f=kHkqt dk ,d dks.k vf/d vkSj vU; nks dks.k
U;wudks.k gksrs gSaA

B = 90º and 0º < A, C < 90º

(ii) The sum of the two acute angles of the
triangle is less than the obtuse angle.

f=kHkqt ds nks U;wudks.kksa dk ;ksx vf/d dks.k ls de
gksrk gSA
(A + C) < B

(iii) The sum of the square of two smaller sides
is lesss than the square of the third side
(the largest side).

nks NksVh Hkqtkvksa ds oxks± dk ;ksx rhljh Hkqtk (lcls
cM+h Hkqtk) ds oxZ ls de gksrk gSA
AB2 + BC2 < AC2

(iv) In obtuse angle triangle ABC, AD is the
perpdndicular dropped on opposite side of
A i.e. BC. Now BC is produced to D to
meet AD.

vf/d dks.k f=kHkqt ABC esa AD, A dh foijhr
Hkqqtk vFkkZr~ BC ij Mkyk x;k yEc gSA vc BC dks
AD ls feykus ds fy, D rd c<+k;k x;k gSA

A

D B C

AC2 = AB2 + BC2 + 2 × BD × AC

{Here, B > 90º }

Ex.1. In DABC, ÐACB > 90º. AC is produced to
point D, such that BD ^ AD, then

ABC esa ACB > 90º gSA AC dks fcUnq D rd
bl izdkj c<+k;k x;k gS fd BD  AD gS] rks
(a) AB2 = AC2 + BC2 + 2CD.BD

(b) AB2 = BC2 + CA2 + 2CA.CB

(c) AB2 = AC2 + BC2 + 2CB.CD

(d) AB2 = CB2 + AC2 + 2CA.CD

Ex.9. Angles of an obtuse-angled triangle ABC
are ,  and . If > 90º, which of the
following is must be true?

fdlh vf/ddks.k f=kHkqt ABC ds dks.k ,  vkSj 
gSaA ;fn > 90º rks fuEu esa ls dkSu&lk vo'; gh
lgh gksxk\
(a)  < 2+ 

(b)  + > 5

(c) 2 > + 2

(d)  – > – 
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2. The sides of a ABC are 12 cm, 8 cm and
6 cm respectively. ABC is :

ABC dh Hkqtkvksa dh yackbZ Øe'k% 12 lseh] 8 lseh
vkSj 6 lseh gSA ABC gS %
(a) Acute

(b) Obtuse

(c) Right-angled

(d) Can't be determined

Scalene Triangle/fo"keckgq f=kHkqt

If all of the three sides of a triangle are of
different lengths then the triangles is called a
scalene triangle.

;fn fdlh f=kHkqt dh rhuksa Hkqtk,¡ vyx&vyx yEckb;ksa
ds gksa rks f=kHkqt fo"keckgq dgykrk gSA

A

B Ca

b
c

AB  BC  CA

or a  b  c, then ABC is an scalene triangle.

Properties of an scalene triangle/

fo"keckgq f=kHkqt dh fo'ks"krk,¡

(i) No two sides are equal in length, i.e.

dksbZ nks Hkqtk yackbZ esa cjkcj ugha gksrh gSA

A

B Ca

b
c

AB  BC  CA or a  b  c

(ii) No two angles are equal, i.e.

dksbZ nks dks.k cjkcj ugha gksrs gSa
A B C

(iii) Triangle may be one of the acute angled,
right angled or obtuse angled.

f=kHkqt U;wudks.k] ledks.k ;k vf/ddks.k esa ls dksbZ
,d gks ldrk gSA

(iv) Perimeter, Semi-perimeter and Area of
scelene triangle

fo"keckgq f=kHkqt dk ifjeki] v¼Z&ifjeki vkSj {ks=kiQy

A

B Ca

bc

Perimter/ifjeki =  a + b + c

Semi-perimeter/v¼Z&ifjeki  = 
a b c+ +

2

Area of ABC/f=kHkqt ABC dk {ks=kiQy

= s(s a)(s b)(s c)- - -

Ex.13. The sides of the scalene triangle ABC are
in the ratio 3 : 5 : 6 and the semi-perimeter
is 42 cm, what is the difference of the
largest and the smallest sides of the
triangle?

fdlh fo"keckgq f=kHkqt ABC dh Hkqtkvksa dk vuqikr
3 : 5 : 6 vkSj v¼Z&ifjeki 42 lseh gSA lcls cM+h
vkSj lcls NksVh Hkqtk dh yackbZ esa varj gS &
(a) 6 cm

(b) 12 cm

(c) 15 cm

(d) 18 cm

Isoceles Triangle/lef}ckgq f=kHkqt

If two sides of a triangle are equal in length,
then the triangle is called an isosceles triangle.

;fn fdlh f=kHkqt dh nks Hkqtkvksa dh yackbZ cjkcj gks]
rks f=kHkqt lef}ckgq dgykrk gSA

A

B C

If AB = AC  BC, then the ABC is an isosceles
triangle.

;fn AB = AC  BC gks] rks ABC lef}ckgq gksrk gSA

Properties of an isosceles triangle/

lef}ckgq f=kHkqt dh fo'ks"krk,¡

ABC is an isosceles triangle in which AB =
AC.

ABC ,d lef}ckgq f=kHkqt gS ftlesa AB = AC

https://t.me/mathsbyadityaranjan
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A

B C

(i) The length of the two sides are equal, i.e.

nks Hkqtkvksa dh yackbZ cjkcj gksrh gS
AB = AC

(ii) The length of the third side will be smaller
or larger than the equal sides.

rhljh Hkqtk dh yackbZ cjkcj Hkqtkvksa dh yackbZ ls vfèkd
;k de gks ldrh gSA

BC > AB = AC or BC < AB = AC

(iii) Two angles opposite to the equal sides are
equal.

leku Hkqtkvksa ds foijhr dk dks.k cjkcj gksrk gSA
B = C  (opposite to the side AC and AB)

(iv) In an isosceles ABC, the median, the angle
bisector, perpendicular bisector and the
altitude of unequal side is the same and it
divides the ABC in two congruent (equal)
right-angled triangle.

lef}ckgq f=kHkqt ABC esa vleku Hkqtk dh ekfè;dk]
dks.k lef}Hkktd] yEc lef}Hkktd vkSj yEc leku
gksrs gSa vkSj ;g f=kHkqt ABC dks nks lok±xle (leku)
ledks.k f=kHkqtksa esa foHkkftr djrs gSaA

A

B C
D

In ABC,

AD is the median, the angle bisector
perpendicular bisector and the altitude.

AD ekfè;dk] dks.k lef}Hkkt] yEc lef}Hkktd vkSj
yEc gSA

AD  BC and BD = DC, then

DABD ACD

(v) Perimeter, semi-perimeter and Area

ifjeki] v¼Z&ifjeki vkSj {ks=kiQy

A

B C
b

aa

Perimeter/ifjeki = AB + BC + CA = 2a + b.

Semi perimeter/v¼Z&ifjei

= 
b

a
AB+BC+CA

= +
2 2

    AD = 
2 2a b4

2



Area of ABC/ABC dk {ks=kiQy = a b2 2b
4

4


Note : In isosceles triangle ABC, ABD and
ADC are the two congruent right-angled
triangle. Use Pythagorean triplets in these
right angled triangle.

uksV % lef}ckgq f=kHkqt ABC esa] ABD vkSj ADC nks
ledks.k lok±xle f=kHkqt gSaA bu ledks.k f=kHkqtksa esa
ik;Fkkxksfj;u fVªiysV dk iz;ksx djsaA

(vi) If a line (which joins the common vertex of
two equal sides of a triangle) bisects the base
then that line is perpendicular to the base
and vice versa.

;fn ,d js[kk (tks nks f=kHkqt dh nks leku Hkqtkvksa ds
mHk;fu"B 'kh"kZ dks feykrh gS) vk/kj dks lef}Hkkftr
djrh gS rks og vk/kj ij yEc Hkh gksrh gSA

A

B C

If AB = AC and BD = DC

ADB = ADC = 90º

(vii) If AB = AC and BE  AC and CF  AB

;fn AB = AC rFkk BE  AC vkSj CF  AB

https://t.me/mathsbyadityaranjan
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A

B C

F E

BE = CF

(viii) If AB = AC, E and F are the mid-points

;fn AB = AC, E rFkk F eè; fcUnq gSa

A

B C

F E

BE = CF

Ex.1. If two angles B and C of an isosceles
ABC are 40º and 100º respectively,
which of the following is true?

;fn lef}ckgq f=kHkqt ABC ds nks dks.k B rFkk
C Øe'k% 40º vkSj 100º gSa] rks fuEu esa ls dkSu&lk
lgh gS\
(a) A = 100º

(b) AB = AC

(c) AB = BC

(d) A = 40º

Ex.2. ABC is an isosceles triangle in which AB
= AC = 2a cm and BXC = a cm. Draw AD
 BC find the length of AD

ABC ,d lef}ckgq f=kHkqt gS] ftlesa AB = AC =

2a lseh vkSj BXC = a lseh gSA AD  BC gS] rks
AD dh yackbZ Kkr djsaA

(a)
15

2
a

(b)
17

2
a

(c)
13

2
a

(d) None of these

Ex.3. The length of perpendicular dropped on
the base on an isosceles triangle is 8 cm.
If its perimeter is 64 cm, what is the area
of this triangle?

fdlh lef}ckgq f=kHkqt ds vk/kj ij Mkys x, yEc
dh yEckbZ 8 lseh gSA ;fn bldk ifjeki 64 lseh
gks] rks f=kHkqt dk {ks=kiQy D;k gS\
(a) 120 cm2

(b) 124 cm2

(c) 108 cm2

(d) 96 cm2

Ex.4. An isosceles ABC is right angled at B. D
is a point inside the ABC. P and Q are
the feet of the perpendiculars drawn from
O on the side AB and AC respectively of
ABC. If AP = a cm, AQ = b cm and BAD
= 15º, sin 75º = ?

lef}ckgq ABC esa dks.k B ledks.k gSA D, ABC

ds Hkhrj dksbZ fcUnq gSA P rFkk Q Øe'k% Hkqtk AB

vkSj AC ij fcUnq O ls Mkys x, yEcksa ds ikn gSaA
;fn AP = a lseh] AQ = b lseh vkSj BAD =

15º gS] rks sin 75º = ?

(a)
b

a

2

3
(b)

a

b2

(c)
a

b

3

2
(d)

a

b

2

3

Equilateral Triangle/leckgq f=kHkqt

If all the three sides of a triangle are equal
in length, then the triangle is called an equilateral
triangle.

;fn fdlh f=kHkqt dh rhuksa Hkqtkvksa dh yackbZ leku gks
rks f=kHkqt leckgq dgykrk gSA

A

B C

If AB = BC = AC, then ABC is an equilateral
triangle.

;fn AB = BC = AC gks] rks ABC leckgq gksxkA

Properties of an equilateral triangle

leckgq f=kHkqt dh fo'ks"krk,¡

Let ABC is an equilateral triangle in which
AB = BC = AC

ekuk ABC ,d leckgq f=kHkqt gS ftlesa AB = BC =

AC
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A

B C

(i) The length of all the three sides are equal,

rhuksa Hkqtkvksa dh yackbZ cjkcj gksrh gSA
i.e. AB = BC = AC

(ii) All the three angles will be equal and the
value of each angle will be 60º

rhuksa dks.kksa dh eki cjkcj gksrh gS vkSj izR;sd dks.k
dk eki 60º gksrk gSA
i.e. A = B = C

(iii)

A

B Cb

aa

60º

In an equilateral ABC,

leckgq ABC esa
(a) all the three medians are equal

rhuksa ekfè;dk,¡ cjkcj gksrh gSA

(b) all the three altitudes are equal

rhuksa yac cjkcj gksrs gSaA

(c) each median = each altitude = 
3

2
a

izR;sd ekfè;dk = izR;sd yEc = 
3

2
a

(iv) In equilateral ABC/leckgq ABC esa

The incentre, the circumcentre, the
orthocentre and the centroid are the same
point.

var% dsUnz] cká dsUnz] yEc dsUnz vkSj dsUnzd lHkh ,d
gh fcUnq ij gksrs gSaA

(v) If P is a point inside an equilateral triangle
ABC, the sum of altitudes from the point P
to the sides AB, BC and AC equal to the
median of the ABC.

;fn fdlh leckgq f=kHkqt ABC ds vanj P dksbZ fcUnq gS
rks P ls Hkqtk AB, BC vkSj AC ij Mkys x, yEcksa dk
;ksxiQy ABC dh ekfè;dk ds cjkcj gksrk gSA

a cm

A

B C
D

E

F

P

h3

h1

h2

Let the altitudes from point P to side BC,
AC and AB be h

1
, h

2
 and h

3
 respectively and

the side of the triangle be a, then

ekuk fcUnq P ls Hkqtkvksa BC, AC vkSj AB ij Mkys x,
yac Øe'k% h

1
, h

2
 vkSj h

3
 gSa rFkk f=kHkqt dh Hkqtk a gS]

rks

h
1
 + h

2
 + h

3
 = 

3a

2

Ex.1. The side QR of an equlateral triangle PQR

is produced to the point S in such a way
that QR = RS and P is joined to S. Then
the measure of PSR is :

fdlh ledks.k f=kHkqt PQR  dh Hkqtk QR dks fcUnq
S rd bl izdkj c<+k;k x;k gS fd R = RS vkSj P
dks S ls feyk;k x;k gS] rks PSR dh eki gS %
(a) 30º

(b) 15º

(c) 60º

(d) 45º

Ex.2. If ABC is a equilateral triangle and P, Q,

R respectively denote the mid-points of
AB, BC, CA, then

;fn ABC ,d leckgq f=kHkqt gS vkSj P, Q, R Øe'k%
AB, BC, CA ds eè; fcUnq gSa] rks
(a) PQR must be an equilateral triangle

(b) PQ + QR + PR = AB

(c) PQ + QR + PR = 2AB

(d) PQR must be a right-angles triangle

Ex.3. If the area of an equilateral triangle is

36 3  cm2, then the perimeter of the

triangle is :

;fn ,d leckg f=kHkqt dk {ks=kiQy 36 3  oxZ lseh

gks] rks bl f=kHkqt dk ifjeki fdruk gksxk\
SSC CGL 6 March 2020 (Morning)

(a) 12 cm

(b) 18 3  cm

(c) 36 cm

(d) 36 3  cm
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Ex.4. Let ABC be an equilateral triangle and
AD  BC, then AB2 + BC2 + CA2 = ?

ekuk ABC ,d leckgq f=kHkqt gS vkSj AD  BC gS]
rks AB2 + BC2 + CA2 = ?

(a) 2 AD2

(b) 3 AD2

(c) 4 AD2

(d) 5 AD2

Sine and Cosine Rule

In any DABC/fdlh f=kHkqt ABC esa

A

B Ca

bc

(a) Sine Rule : Ratio of side and sine of
opposite angle of a triangle is equal to
double of circum radius.

T;k dk fu;e % fdlh f=kHkqt esa Hkqtk vkSj mlds foijhr
dks.k dh T;k dk vuqikr f=kHkqt dh cká f=kT;k ds
nksxqus ds cjkcj gksrk gSA

a b c
= =

sinA sinB sinC
= 2R

(b) Cosine Rule : If two sides and angle
between sides are given, then we can find
the opposite side by Cosine Rule.

dks&T;k dk fu;e % ;fn nks Hkqtk vkSj Hkqtkvksa ds
chp dk dks.k fn;k gks] rks dks&T;k ds fu;e ls ge
foijhr Hkqtk Kkr dj ldrs gSaA

cosA = 
2 2 2b +c a

2bc


,

cosB = 
2 2 2a +c b

2ac

–

cosC = 
2 2 2a +b c

2ab

–

Ex.1. In ABC, A = 60º, B = 75º and AB = 8
cm, find the value of BC.

ABC esa A = 60º, B = 75º vkSj AB = 8 lseh
gS] rks BC dk eku Kkr djsaA

(a) 2 3  cm

(b) 4 6  cm

(c) 2 6  cm

(d) 4 3  cm

Ex.2. In a ABC, BCA = 60º and AB2 = BC2 +

CA2 + x. What is the value of x2 ?

ABC esa BCA = 60º vkSj AB2 = BC2 + CA2 +

x gSA x2 dk eku D;k gS\
(a) (BC)(CA)

(b) – (BC)(CA)

(c) 0

(d) (BC)(CA)

Ex.3. If the measure of the angles of triangle

are in the ratio, 1 : 2 : 3 and if the length

of the smallest side of the triangle is 10

cm, then the length of the longest side

is :

;fn fdlh f=kHkqt ds dks.kksa dh eki dk vuqikr 1 :

2 : 3 gS vkSj f=kHkqt dh lcls NksVh Hkqtk dh yackbZ
10 lseh gks] rks lcls cM+h Hkqtk dh yackbZ D;k gS\
(a) 20 cm

(b) 25 cm

(c) 30 cm

(d) 35 cm

Ex.4. In a triangle ABC, AB = AC. D is the any

point on BC. Find the length of BD if AB

= 17 cm, AD = 15 cm, CD = 4 cm.

fdlh f=kHkqt ABC esa] AB = AC gSA D Hkqtk BC ij
dksbZ fcUnq gSA BD dh yackbZ Kkr dhft, ;fn AB =

17 lseh] AD = 15 lseh CD = 4 gSA
(a) 16 cm

(b) 12 cm

(c) 8 cm

(d) 20 cm

Ex.5. In a triangle ABC, AD divides BC in the

ratio 2 : 3. If B =60º and C = 45º, then

find the 




sin BAD

sin CAD
.

f=kHkqt ABC esa AD Hkqtk BC dks 2 : 3 ds vuqikr esa
foHkkftr djrh gSA ;fn B =60º vkSj C = 45º

gksa] rks 




sin BAD

sin CAD
 dk eku Kkr dhft,A

(a)
2

3

(b)
3

2

(c)
1

6

(d) 6
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1. ABC is a triangle right-angled at A and a
perpendicular AD is drawn on the
hypotenuse BC. What is BC.AD equal
to :

f=kHkqt ABC, A ij ledks.k gSA d.kZ BC ij ,d yEc
AD [khaph xbZ gSA BC × AD cjkcj gS %
(a) AB.AC (b) AB.AC

(c) CA.CD (d) AD.DB

2. In a right-angled ABC, C = 90º and CD is
perpendicular to AB. If AB × CD = CA × CB,

then 2

1

CD
 is equal to :

fdlh ledks.k ABC esa] C = 90º vkSj CD Hkqtk
AB ij yEc gSA ;fn AB × CD = CA × CB gS] rks

2

1

CD
 cjkcj gS %

(a) 2 2

1 1

AB CA
–

(b) 2 2

1 1

AB CB
–

(c) 2 2

1 1
+

BC CA

(d) 2 2

1 1

BC CA
–  if CA > CB

3. In ABC, ABC = 90º and BD  AC. If AD =
4 cm and CD = 5 cm, then BD is equal
to :

f=kHkqt ABC esa ABC = 90º vkSj BD  AC gSA ;fn
AD = 4 lseh vkSj CD = 5 lseh gS] rks BD fdlds
cjkcj gS\

SSC CHSL 11 July 2019 (Evening)

(a) 2 5  cm (b) 3 5  cm

(c) 3 2  cm (d) 4 5  cm

4. In ABC, A = 90º, M is the mid-point
of BC and D is a point on BC such that
AD  BC. If AB = 7 cm and AC = 24 cm,
then AD : AM is equal to :

ABC esa A = 90º gS] M, BC dk eè; fcUnq gS rFkk
D, BC ij fLFkr ,slk fcUnq gS fd AD  BC. ;fn AB

= 7 lseh vkSj AC = 24 lseh gS] rks AD : AM fdlds
cjkcj gS\

SSC CGL 4 March 2020 (Morning)

(a) 168 : 275 (b) 24 : 25

(c) 32 : 43 (d) 336 : 625

5.  In ABC, A = 90°, AD  BC at D. If AB =
12 cm and AC = 16 cm, then what is the
length (in cm) of BD?

ABC esa A = 90°, fcUnq D ij AD  BC gSA ;fn
AB = 12 lseh vkSj AC = 16 lseh gS] rks BD dh
yackbZ (lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 8.4 (b) 7.8

(c) 7.2 (d) 6.2

6. Triangle ABC is right angle at B. BD is an
altitude intersecting AC at D. If AC = 9 cm
and CD = 3 cm, then find the measure of
AB (in cm).

f=kHkqt ABC, B ij ledks.k gSA BD yac gS tks AC dks
fcUnq D ij çfrPNsfnr djrk gSA ;fn AC = 9 lseh vkSj
CD = 3 lseh gS] rks AB dk eki (lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 3 (b) 6 3

(c) 6 (d) 3 6

7. In PQR, P = 90º, S and T are mid-point
of the side PR and PQ respectively. What

is the value of  

2

2 2

RQ

QS +RT
 ?

PQR esa P = 90º, S vkSj T Øe'k% PR vkSj PQ

Hkqtkvksa ds eè; fcUnq gSaA  

2

2 2

RQ

QS +RT
 dk eku D;k

gS\
SSC CGL 2019 Tier-II (16/11/2020)

(a)
3

4
(b)

1

2

(c)
2

3
(d)

4

5

8. Points P and Q are on the sides AB and BC
respectively of a triangle ABC, right angled
at B. If AQ = 11 cm, PC = 8 cm, and AC =
13 cm, then find the length (in cm) of PQ.

fcUnq P vkSj Q Øe'k% f=kHkqt ABC dh Hkqtk AB vkSj
BC ij fLFkr gS] f=kHkqt B ijledks.k gSA ;fn AQ =

11 lseh] PC = 8 lseh vkSj AC = 13 lseh gS] rks PQ

dh yackbZ (lseh esa) Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 4 7 (b) 15

(c) 4.5 (d) 4

Exercise
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9. Points M and N are on the sides PQ and QR

respectively of a triangle PQR, right angled

at Q. If PN = 9 cm, MR = 7 cm, and MN = 3

cm, then find the length of PR (in cm).

f=kHkqt PQR dh Hkqtk PQ vkSj QR Øe'k% fcUnq M

vkSj N fLFkr gS rFkk ;g f=kHkqt Q ij ledks.k gSA ;fn
PN = 9 lseh] MR = 7 lseh] vkSj MN = 3 lseh gS]
rks PR dh yackbZ (lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 13 (b) 11

(c) 12 (d) 41

10. In the figure given below PS and RT are the

medians each measuring 4 cm, triangle

PQR is right angled at Q. What is the area

of the triangle PQR?

uhps fn, x, fp=k esa PS vkSj RT izR;sd 4 lseh eki
dh ekfè;dk,¡ gSaA f=kHkqt PQR, Q ij ledks.k gSA f=kHkqt
PQR dk {ks=kiQy D;k gS\

P

Q RS

T

(a) 5.2 (b) 6.4

(c) 6.2 (d) 7.2

11. In ABC, A is a right angle. The lengths

of AC and BC are 6 cm and 10 cm

respectively. Point D is on AB such that BD

= 4 cm. What is the lengthof CD?

ABC esa] A ledks.k gSA AC vkSj BC dh yackbZ Øe'k%
6 lseh vkSj 10 lseh gSA fcUnq D, AB ij bl izdkj
fLFkr gS fd BD = 4 lseh gSA CD dh yackbZ Kkr djsaA

SSC CGL 7 June 2019 (Afternoon)

(a) 2 13  cm (b) 3 10  cm

(c) 2 10  cm (d) 13  cm

12. In ABC, right angled at B, AB = 7 cm and

(AC – BC) = 1 cm. the value of (secC + cotA) is

f=kHkqt ABC esa] ftlesa B ledks.k gS] AB = 7 lseh
vkSj (AC – BC) = 1 lseh gSA (secC + cotA) dk
eku Kkr djsaA

SSC CGL 10 June 2019 (Morning)

(a)
19

24
(b)

4

3

(c)
3

4
(d) 1

13. ABC is a triangle, where B is obtuse. AD
is perpendicular on CB produced at D. If AB
= 8 cm, BC = 7 cm and BD = 4 cm, then AC
is equal to :

ABC ,d f=kHkqt gS ftlesa B vf/d dks.k gSA AD,

CB ij yEc gS ftls D fcUnq ij Mkyk x;k gSA ;fn
AB = 8 lseh] BC = 7 lseh vkSj BD = 4 lseh gS] rks
AC fdlds cjkcj gS\

SSC CHSL 4 July 2019 (Morning)

(a) 14 cm (b) 13 cm

(c) 15 cm (d) 12 cm

14. Equilateral triangles are drawn onthe
hypotenuse and one of the perpendicular
sides of a right-angled isosceles triangles.

Their areas are H and A respectively. 
A

H
 is

equal to :

,d ledks.k lef}ckgq f=kHkqt ds d.kZ vkSj ,d yEc
Hkqtk ij nks leckgq f=kHkqt [khaps tkrs gSaA muds {ks=kiQy

Øe'k% H vkSj A gSaA 
A

H
 fdlds cjkcj gS\

SSC CHSL 10 July 2019 (Afternoon)

(a)
1

4
(b)

1

2

(c)
1

2
(d) 2

1

2

15. In the given figure, if AB = 8 cm, AC = 10
cm, ABD = 90º and AD = 17 cm, then the
measure of CD is :

nh xbZ vkÑfr esa ;fn AB = 8 lseh] AC = 10 lseh]
ABD = 90º rFkk AD = 17 lseh gS] rks CD dh
yackbZ Kkr djsaA

A

B DC

SSC CGL 6 March 2020 (Afternoon)

(a) 9 cm

(b) 8 cm

(c) 10 cm

(d) 11 cm
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16. In ABC, 2ABC = 9ACB and 2BAC =
7ACB. If AB = 8 cm and AC = 17 cm, then
the length of BC is equal to :

ABC es a 2ABC = 9ACB vkSj 2BAC =

7ACB gSA ;fn AB = 8 lseh vkSj AC = 17 lseh gS]
rks BC dh yackbZ gS%

SSC CHSL 26/10/2020 (Morning)

(a) 8 (b) 25

(c) 15 (d) 9

17. In the triangle given below ADV = 90º,
ABC = 45º, AD = 10 cm, AC = 20 cm. The
length of BC is :

uhps fn, x, f=kHkqt esa ADV = 90º, ABC = 45º,

AD = 10 lseh] AC = 20 lseh gSA BC dh yackbZ Kkr djsaA

A

B D C

SSC CPO 16 March 2019 (Afternoon)

(a) 10 cm (b) 27.32 cm

(c) 18.42 cm (d) 14.14 cm

18. In ABC, B = 90º. If point D and E are on
side BC such that BD = DE = EC, then
which  of the following is true ?

ABC esa B = 90º gSA ;fn fcUnq D vkSj E Hkqtk BC

ij bl izdkj fLFkr gS fd BD = DE = EC gS] rks
fuEufyf[kr esa ls dkSu&lk lgh gksxk\

SSC CGL 5 March 2020 (Afternoon)

(a) 8AE2 = 3AC2 + 5AD2

(b) 8AE2 = 5AC2 + 3AD2

(c) 5AE2 = 2AC2 + 3AD2

(d) 5AE2 = 3AC2 + 2AD2

19. In ABC, C = 90º, point P and Q are on
side AC and BC respectively, such that

AP : PC = BQ : QC = 1: 2, then 
2 2

2

AQ + BP

AB
is equal to :

ABC esa C = 90º gSA fcUnq P vkSj Q Hkqtk AC vkSj
BC ij fcUnq bl izdkj gS fd AP : PC = BQ : QC

= 1: 2] rks 
2 2

2

AQ + BP

AB
 = ?

SSC CGL 2019 Tier-II (15/11/2020)

(a)
4

7
(b)

4

3

(c)
13

9
(d)

8

3

20. In a triangle ABC, AB = 6 3  cm, AC = 12

cm and BC = 6 cm. Then measure of B is
equal to :

,d f=kHkqt ABC esa AB = 6 3  lseh] AC = 12 lseh

vkSj BC = 6 lsehA B dk eki Kkr djsaA
SSC CGL 2019 Tier-II (18/11/2020)

(a) 90º

(b) 60º

(c) 70º

(d) 45º

21. In ABC , C = 90º and Q is the midpoint

of BC. If AB = 10 cm and AC = 2 10  cm,

then the length of AQ is:

ABC esa C = 90º vkSj Q, BC dk eè; fcUnq gSA

;fn AB = 10 lseh vkSj AC = 2 10  lseh gS rks AQ

dh yackbZ Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 15

(b) 5 3

(c) 5 2

(d) 3 5

22. Triangle ABC is right angled at B and D is
a point of BC such that BD = 5 cm, AD =
13 cm and AC = 37 cm, then find the length
of DC in cm.

f=kHkqt ABC, B ij ledks.k gS vkSj BC ij fcUnq D

ij bl izdkj fLFkr gS fd BD = 5 lseh] AD = 13

lseh vkSj AC = 37 lseh gSA DC dh yackbZ (lseh esa)
Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 25

(b) 35

(c) 5

(d) 30

23. Triangles ABC and DBC are right angled
triangles with common hypotenuse BC. BD
and AC intersect at P when produced. If PA
= 8 cm, PC = 4 cm and PD = 3.2 cm, then
the length of BD (in cm) is:

f=kHkqt ABC vkSj DBC mHk;fu"B d.kZ BC okys ledks.k
f=kHkqt gSaA BD vkSj AC dks c<+kus ij os P ij izfrPNsfnr
gksrh gSA ;fn PA = 8 lseh] PC = 4 lseh vkSj PD =

3.2 lseh gS] rks BD dh yackbZ (lseh esa) Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 5.6 (b) 7.2

(c) 6.4 (d) 6.8
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24. In a right angled triangle ABC, right angled
at C. It is given that BC = 8 cm and CA = 6
cm. A line dividing the triangle ABC into
two regions of equal area is perpendicular
to AB at the point X. Then length (in cm)
of BX is :

ABC, C ij ledks.k gSA fn;k gS fd BC = 8 lseh
vkSj CA = 6 lsehA ,d js[kk tks f=kHkqt ABC dks nks
cjkcj {ks=kiQyksa esa foHkkftr djrh gS] Hkqtk AB ds fcUnq
X ij yEc gSA BX dh yackbZ (lseh esa) gS %

(a) 210 (b) 45

(c) 32 (d) 53

25. A point D is taken from the side BC of right
angled triangle ABC, where AB is
hypotenuse, then

fdlh ledks.k f=kHkqt ABC dh Hkqtk BC ij dksbZ fcUnq
D fy;k x;k gS tgk¡ AB d.kZ gS] rks
(a) AB2 + CD2 = BC2 + AD2

(b) CD2 + BD2 = 2AD2

(c) AB2 + AC2 = 2AD2

(d) AB2 = AD2 + BD2

26. Find the perimeter (in cm) of a right-angled
triangle, when length of the altitude drawn
to the hypoteneuse is 4.8 cm and area of
the right angled triangle is 24 cm2.

fdlh ledks.k f=kHkqt dk ifjeki (lseh esa) Kkr dhft,
tc d.kZ ij Mkys x, yEc dh yackbZ 4-8 lseh vkSj
ledks.k f=kHkqt dk {ks=kiQy 24 oxZ lseh gSA
(a) 16 (b) 24

(c) 20 (d) 28

27. In PQR, PQ = 13 cm, PR = 17 cm and S is
mid-point of QR, PT is angle bisector of
QPR, PTQ = 90º. Find ST = ?

PQR esa] PQ = 13 lseh] PR = 17 lseh vkSj S,

Hkqtk QR dk eè; fcUnq gSA PT, QPR dk lef}Hkktd
gS] PTQ = 90º gS] rks ST dh eki Kkr dhft,A

P

Q R

T

(a) 1 cm (b) 4 cm

(c) 2 cm (d) 2.5 cm

28. In the right angle triangle ABC, BD divides
the triangle ABC into two triangle of equal
perimeters. Find the length of BD, given
that AC = 100, BC = 80, B = 90º.

fdlh ledks.k ABC esa] BD f=kHkqt ABC dks nks leku
ifjekiksa esa foHkkftr djrh gSA BD dh yackbZ Kkr dhft,A
fn;k gS fd AC = 100, BC = 89,  B = 90º.

(a) 25

(b) 24 5

(c) 20 5

(d) None of these

29. Side of a triangle are 20 cm, 16 cm and 13
cm. Which one is correct in the following?

fdlh f=kHkqt dh Hkqtkvksa dh yackbZ 20 lseh] 16 lseh
vkSj 13 lseh gSA fuEufyf[kr esa ls dkSu&lk lgh gS\
(a) Triangle is obtuse

(b) Triangle is right-angled

(c) Triangle is acute

(d) Can't be determined

30. In ABC AB = BC = k, AC = 2 k, then ABC

is :

ABC esa AB = BC = k, AC = 2 k gS] rks ABC

gS %
(a) Isosceles triangle

(b) Right angled triangle

(c) Equilateral triangle

(d) Right Isosceles triangle

31. The largest angle of a triangle of sides 7 cm,
5 cm and 3 cm is :

7 lseh] 5 lseh vkSj 3 lseh Hkqtk okys fdlh f=kHkqt dk
lcls cM+k dks.k gS%
(a) 45º (b) 60º

(c) 90º (d) 120º

32. The side of a triangle are in the ratio
3 : 4 : 6. The triangle is :

fdlh f=kHkqt dh Hkqtkvksa dk vuqikr 3 % 4 % 6 gSA f=kHkqt
gS %
(a) Acute angled

(b) Right-angled

(c) Obtuse angled

(d) Either accute or right angled

33. In a ABC C is obtuse and length of side
BC and AC are respectively 9 cm and 7 cm.
The minimum possible length of AB is :
(where length of AB is an integer)

ABC esa C vf/d dks.k gS vkSj Hkqtk BC vkSj AC

dh yackbZ Øe'k% 9 lseh vkSj 7 lseh gSA AB dh U;wure
laHko yackbZ gS (tgk¡ AB dh yackbZ ,d iw.kk±d gS)
(a) 12 cm

(b) 10 cm

(c) 11 cm

(d) 14 cm
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34. In an obtuse angle triangle, the length of
side opposite to the obtuse angle is x cm
(where x is an integer) and length of other
two sides is 8 cm and 10 cm. How many
such triangles are possible?

fdlh vf/ddks.k f=kHkqt esa vf/d dks.k ds foijhr
Hkqtk x lseh (tgk¡ x ,d iw.kk±d gS) vkSj vU; nks
Hkqtkvksa dh yackbZ 8 lseh vkSj 10 lseh gSA ,sls fdrus
f=kHkqt laHko gS\
(a) 4 (b) 5

(c) 3 (d) 6

35. a, b, c are integer, that are side of an
obtuse angle triangle. If ab = 4, then find
c.

a, b, c iw.kk±d gS tks fdlh vf/ddks.k f=kHkqt dh
Hkqtk,¡ gSaA ;fn ab = 4 gS] rks c dk eku gS %
(a) 2 (b) 1

(c) 3 (d) 4

36. Consider obtuse-angled triangle with side
15 cm and x cm. If x is an integer, then
how many such triangle exists?

15 lseh vkSj x lseh Hkqtk okyk dksbZ vf/ddks.k f=kHkqt
ysrs gSaA ;fn x iw.kk±d gks rks ,sls fdrus f=kHkqt laHko
gSa\
(a) 5 (b) 10

(c) 14 (d) 15

37. In an acute-angled triangle ABC, sides are
of lengths 8 cm, 15 cm and x cm. If x is
an integer, then how many such x exists?

fdlh U;wudks.k f=kHkqt ABC dh Hkqtkvksa dh yackbZ 8
lseh] 15 lseh vkSj x lseh gSA ;fn x ,d iw.kk±d gks]
rks ,sls x ds fdrus eku laHko gSa\
(a) 5 (b) 10

(c) 4 (d) 6

38. The base and altitude of an iscosceles
triangle are 10 cm and 12 cm respectively.
Then the length of each equal side is :

,d lef}ckgq f=kHkqt dk vk/kj rFkk mldh Å¡pkbZ Øe'k%
10 lseh vkSj 12 lseh gSA izR;sd cjkcj Hkqtk dh yackbZ
Kkr djsaA

SSC CGL 7 June 2019 (Evening)

(a) 10 cm (b) 7.5 cm

(c) 8.5 cm (d) 13 cm

39. The ratio between a base angle and a
vertical angle of an isosceles triangle (base
angles being equal) is 2 : 5. The vertical
angles is :

fdlh lef}ckgq f=kHkqt (ftlds vk/kj dks.k cjkcj gSa)
ds ,d vk/kj dks.k vkSj ,d dks.k ds chp dk vuqikr
2 % 5 gSA mèokZ/j dks.k D;k gksxk\

SSC CPO 15 March 2019 (Evening)

(a) 80º (b) 140º

(c) 100º (d) 40º

40. In the given figure, ABC is an isosceles
triangle, in which AB = AC, AD  BC, BC =
6 cm and AD = 4 cm. The length of AB is

nh xbZ vkÑfr esa] f=kHkqt ABC ,d lef}ckgq f=kHkqt gS
ftlesa AB = AC, AD  BC, BC = 6 cm rFkk
AD = 4 lseh gSA AB dh yackbZ fdruh gS\

A

B C D

SSC CGL 7 March 2020 (Morning)

(a) 6 cm (b) 7 cm

(c) 4 cm (d) 5 cm

41. The perimeter of an isosceles triangle is 50
cm. If the base is 18 cm, then find the
length of the equal sides.

,d lef}ckgq f=kHkqt dk ifjeki 50 lseh gSA ;fn bldk
vk/kj 18 lseh gS] rks cjkcj Hkqtkvksa dh yackbZ Kkr
djsaA

SSC CGL 7 March 2020 (Afternoon)

(a) 18 cm (b) 25 cm

(c) 16 cm (d) 32 cm

42. In an isoscales ABC, AB = AC = 8 cm, BC
= 11 cm, D is a point on Side BC such that
BD = 7 cm. Find the length of AD?

fdlh lef}ckgq f=kHkqt ABC esa AB = AC = 8 lseh]
BC = 11 lseh]  D Hkqtk BC ij dksbZ fcUnq bl izdkj
gS fd BD = 7 lseh gks] rks AD dh yackbZ Kkr djsaA
(a) 4 cm (b) 5 cm

(c) 6 cm (d) 7 cm

43. In an isoscales ABC, length of equal sides
is 3 cm. What length (in cm) of the unequal
side will maximise the area of triangle?

fdlh lef}ckgq f=kHkqt ABC esa cjkcj Hkqtkvksa dh yackbZ
3 lseh gSA rhljh Hkqtk dh fdruh yackbZ f=kHkqt ds {ks=kiQy
dks vf/dr dj nsxh\

(a) 2

(b) 2 2

(c) 3 2

(d) 2 3
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44. ABC is an equilateral triangle and AD  BC,

where D lies in BC. If AD = 4 3  cm, then

what is the perimeter (in cm) of ABC?

f=kHkqt ABC ,d leckgq f=kHkqt gS rFkk AD  BC gS]

tgk¡ D, BC ij fLFkr gSA ;fn AD = 4 3  lseh gS rks

f=kHkqt ABC dk ifjeki (lseh esa) fdruk gksxk\
SSC CGL 3 March 2020 (Afternoon)

(a) 27 (b) 24

(c) 30 (d) 21

45. ABC is an equilateral triangle. P, Q and R
are the midpoints of sides AB, BC and CA
respectively. If the length of the side of the
triangle ABC is 8 cm, then the area of PQR
is :

ABC ,d leckgq f=kHkqt gSA P, Q vkSj R Øe'k%
Hkqtkvksa AB, BC rFkk CA ds eè; fcUnq gSaA ;fn f=kHkqt
ABC dh Hkqtk dh yackbZ 8 lseh gS] rks f=kHkqt PQR

dk {ks=kiQy fdruk gksxk\
SSC CGL 6 March 2019 (Morning)

(a) 8 3  cm2 (b)
3

3
 cm2

(c) 4 3  cm2 (d)
3

4
 cm2

46. In a equilateral triangle, the value of each
exterior angle is :

,d leckgq f=kHkqt esa] izR;sd ckgjh dks.k dk eku gS %
SSC CHSL 14/10/2020 (Morning)

(a) 140º (b) 100º

(c) 130º (d) 120º

47. Perimeter of a triangle is 30 cm, then find
the maximum possible area of the triangle.

fdlh f=kHkqt dk ifjeki 30 lseh gS rks f=kHkqt dk vf/
dre laHkkfor {ks=kiQy Kkr dhft,A

(a) 36 3 (b) 50 3

(c) 25 3 (d) 16 3

48. Which of the following can not be the area
of triangle with perimeter 60 cm?

60 lseh ifjeki okys fdlh f=kHkqt dk {ks=kiQy fuEu esa
ls dkSu&lk ugha gks ldrk gS\
(a) 171 cm2 (b) 168 cm2

(c) 178 cm2 (d) 154 cm2

49. ABC is an equilateral triangle. D is a point
on side BC such that BD : BC = 1 : 3. If AD

= 5 7  cm, then the side of the triangle is:

ABC leckgq f=kHkqt gSA Hkqtk BC ij ,d fcUnq D bl

izdkj gS fd BD : BC = 1 : 3. ;fn AD = 5 7  lseh

gS] rks f=kHkt dh Hkqtk Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 18 cm (b) 12 cm

(c) 20 cm (d) 15 cm

50. The side of an equilateral ABC is 3 7  cm.

P is a point on side BC such that
BP : PC = 1 : 2 The length (in cm) of AP is:

leckgq f=kHkqt ABC dh Hkqtk 3 7  lseh gSA BC ij

fcUnq P bl izdkj gS fd BP : PC = 1 : 2 gSA AP dh
yackbZ (lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 6 3 (b) 7 3

(c) 6 (d) 7

51. ABC is an equilateral triangle with side 18
cm. D is a point on BC such that BD =

1

3
BC. Then length (in cm) of AD is:

ABC, leckgq f=kHkqt gS ftldh Hkqtk 18 lseh gSA ;fn

BC ij fcUnq D bl izdkj gS fd BD = 
1

3
BC, rks AD

dh yackbZ (lseh esa) Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 6 3 (b) 6 7

(c) 7 6 (d) 8 3

52. a, b, c are sides of a triangle. If a2 + b2 + c2

= ab + bc + ac, then triangle will be :

a, b, c fdlh f=kHkqt dh Hkqtk,¡ gSaA ;fn a2 + b2 + c2

= ab + bc + ac gS] rks f=kHkqt gksxk %
(a) Equlateral (b) Isosceles

(c) Right-angled (d) Obtuse

53. Let AX  BC of an equilateral ABC, then
the sum of the perpendicular distances of
the sides of ABC from any point inside the
triangle is :

fdlh leckgq f=kHkqt ABC esa AX  BC gS] rks f=kHkqt
ds vanj fdlh fcUnq ls ABC dh Hkqtkvksa dh yacor
nwjh dk ;ksxiQy gS %
(a) equal to BC (b) equal to AX

(c) less than AX (d) greater than AX

54. Side AB of a triangle ABC is 80 cm long,
whose perimeter is 170 cm. If angle ABC =
60º, the shortest side of triangle ABC
measure ––––– cm.

,d f=kHkqt ABC dh Hkqtk AB, 80 yach gS ftldk
ifjeki 170 lseh- gSA ;fn dks.k ABC = 60º gS] rks
f=kHkqt ABC dh lcls NksVh Hkqtk dk eki ––– lseh gksxkA

SSC CPO 16 March 2019 (Evening)

(a) 17 (b) 15

(c) 25 (d) 21
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Answer Key

1.(a) 2.(c) 3.(a) 4.(d) 5.(c) 6.(d) 7.(d) 8.(d) 9.(a) 10.(b)

11.(a) 12.(b) 13.(b) 14.(b) 15.(a) 16.(c) 17.(b) 18.(a) 19.(c) 20.(a)

21.(a) 22.(d) 23.(d) 24.(c) 25.(a) 26.(b) 27.(b) 28.(b) 29.(c) 30.(d)

31.(d) 32.(a) 33.(a) 34.(b) 35.(c) 36.(b) 37.(c) 38.(d) 39.(c) 40.(d)

41.(c) 42.(c) 43.(c) 44.(b) 45.(c) 46.(d) 47.(c) 48.(c) 49.(d) 50.(d)

51.(b) 52.(a) 53.(b) 54.(a) 55.(c) 56.(c) 57.(b) 58.(a) 59.(b) 60.(b)

55. In ABC, AB = AC and D is a point on BC.
If BD = 5 cm, AB = 12 cm and AD = 8 cm,
then the length of CD is :

ABC esa AB = AC gS vkSj D, BC ij fLFkr ,d fcUnq
gSA ;fn BD = 5 lseh] AB = 12 lseh vkSj AD = 8

lseh gS] rks CD dh yackbZ Kkr djsaA
SSC CGL Tier-II (12 September 2019)

(a) 14.8 cm

(b) 16.2 cm

(c) 16 cm

(d) 14 cm

56. If a4 + b4 + c4 – 2b2 (c2 + a2) = 0, then find
the value of acute angle B.

;fn a4 + b4 + c4 – 2b2 (c2 + a2) = 0 gS] rks U;wudks.k
B dk eku Kkr dhft,A
(a) 30º

(b) 60º

(c) 45º

(d) 75º

57. Three sides of a triangle are 7 cm, 4 3  cm

and 13  cm then smallest angle is :

fdlh f=kHkqt dh rhu Hkqtk,¡ 7 lseh] 4 3  lseh vkSj

13  lseh gS] rks lcls NksVs dks.k dk eku Kkr dhft,A

(a) 15º

(b) 30º

(c) 45º

(d) 60º

58. In a triangle the length of the side opposite

the angle which measures 45º is 8 cm. What

is the length of the side opposite to the

angle which measures 90º?

fdlh f=kHkqt esa 45º eki okyh dks.k ds foijhr Hkqtk
dh yackbZ 8 lseh gSA 90º eki okys dks.k ds foijhr
Hkqtk dh yackbZ D;k gS\

(a) 8 2  cm

(b) 4 2  cm

(c) 8 3  cm

(d) 4 3  cm

59. ABC is a triangle with BAC = 60º. A point

P lies on one-third of the way from B to C

and AP bisects BAC. Find APC.

f=kHkqt ABC esa BAC = 60º gSA fcUnq P, B vkSj C ds
chp B ls ,d&frgkbZ nwjh ij fLFkr gSA AP,  BAC

dks lef}Hkkftr djrk gSA APC dk eku Kkr djsaA
(a) 30º (b) 120º

(c) 60º (d) 90º

60. ABC is a triangle with CAB = 15º and

ABC = 30º. If M is the midpoint of AB,

then ACM = ?

ABC esa CAB = 15º vkSj ABC = 30º gSA ;fn
M, Hkqtk AB dk eè; fcUnq gS] rks ACM = ?

(a) 15º (b) 30º

(c) 45º (d) 60º
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